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Google

Google Search I'm Feeling Lucky

Google offered in: =01
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Q All [ Videos @ News ¢ Shopping &) Images : More

About 114,000 results (0.34 seconds)

https://pypi.org » project » bbconf
bbconf - PyPI

bbconf standardizes reporting of bedstat and bedbuncher results. It formalizes a way for these
pipelines and downstream tools to communicate -- the produced ...

https://bbconf.kr

BBConf 2023
BBConf 2023. 20231 28 262 13A| EX ZHEXEIA [N] [K]. Sessions. 0] 22
&S| A AL SWOOAEZ0]|A 7HETH #j D 2 Atgte] ojof7|Oty ...
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71 ZHekSEA 94| Exact Matching

strings.Contains("document text",

"query")
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71 ZHekSEA 94| Exact Matching

var query string

var documents [ ]Document

for , doc := range documents {
/7 Bk 2|7 2M 220 =ZetE(o] UCHA
if strings.Contains(doc.Content, query) {

// Bt &L, like: ZAM Aol FIt
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2XM2| LHEO| "red apple and orange juice"0|1d
M FY2IZ "apple juice'7t E0IRE BRE YYHHRAL

strings.Contains("red apple and orange juice", "apple juice")

AM Z2|0f| RLE applelt juice BE EMO| Z&HE|0] QUCH
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Idea: 2| THo| THRI= ZIHM HALSHAL

2L FZ&E|l= Knuth-Morris-Pratt2] A|Zt SEE= &= o (n+m) O[CH (EA2] Z0[ v, #HE[2| Z0] m)

arofol| 2|7} of2i7Hatet?
o7iel 27t Y3, BE Hzlel Zo| & #o| s2t siExt
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HE AMg FMS2 C|O|E{H| 0] A0 XMFE|0] A1, CIO|E{H|0|A 7|51t SQLS AHESHH HotA KMeE|d 4= AT
—-— LIKE
SELECT ... FROM documents WHERE text LIKE '%apple juice%'
-- REGEXP
SELECT ... FROM documents WHERE text REGEXP '.*apple juice.*'
--— FULLTEXT INDEX + MATCH .. AGAINST
CREATE TABLE documents ... text TEXT, FULLTEXT(text)
SELECT ... FROM documents WHERE MATCH(text) AGAINST( 'apple juice' IN BOOLEAN MODE)

LIKE, REGEXP AME EA 2} HAE +E M80| 7N H e = Ho{X|X|2t
H

(o] | xIA
— | o LS =
FULLTEXT QIHIAE ALESH M2 H|w™ Ms50| ECt
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e Apache Lucene
e Apache Solr
» Elasticsearch
e OpenSearch
e MongoDB Atlas
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Cl|O|E{H| O] 201 A B =H| HIO|HE F7
Index
friends_name_asc
name
Andrew 3
Blake 5
Dave 2
Evan 6
Matt 1
Nick 7
Todd 4
Zack 8
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L

—

| ?lafl 22 712 7% CIO|EE 20ts2 Rt=27 =
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points to
1
3
4
5
._-—-—'—'_'_4_._'_._._.’8
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Table

Friends
name
Matt
Dave
Andrew
Todd
Blake
Evan
Nick

Zack

city
San Francisco
Oakland
Blacksburg
Chicago
Atlanta
Detroit
New York City

Seattle



Inverted Index

HO

Forward Index7}
Inverted Index=

DOCUMENT ID

doc1

doc?2

doc3

2t 27} OfH 32
o | =]

|:! | 7I-o| o-ll:l:-i
TEXT
apple favored chocolate

orange juice

apple orange juice

ME HHO] Tl = ZIHA, Z THo{7F OfiH EAM0l| ZSHE[0] J=XIE MY

TERM

apple

chocolate

favored

juice

orange

tSh= AfE2 R

DOCUMENT ID

doc1, doc3

doc1

doc1

doc2, doc3

doc2, doc3



Inverted Index: 481

type Document struct {
ID int

Content string

type InvertedIndex map[string][]int // Map<string, Array<int>>

func BuildInvertedIndex(documents [ ]Document) InvertedIndex {
index := make(InvertedIndex)

for , doc := range documents {

tokens := strings.Fields(doc.Content)

for , token := range tokens {
if , ok := index[token]; !ok {
index[token] = make([]int, 0)

}
index[token] = append(index[token], doc.ID)

return index



Inverted Index: 481

func main() {
documents := [ ]Document{
{ID: 0, Content: "apple favored chocolate"},
{ID: 1, Content: "orange juice with candy"},

{ID: 2, Content: "apple orange juice"},

index := BuildInvertedIndex(documents)
for key, value := range index {
fmt.Println(key, value)

OfHl #zl0fl w7l THo7t ASH, e THo{S0] Z&HE EME o(w) Al

KEY

apple

candy

favored

chocolate

orange

juice

with

DOCUMENT ID

0, 2

1,2

1,2
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func main() {
documents := [ ]Document{
{ID: 0, Content: "apple favored chocolate"},
{ID: 1, Content: "orange juice with candy"},
{ID: 2, Content: "apple orange juice"},

}
index := BuildInvertedIndex(documents)
query := "apple juice candy"

tokens := strings.Fields(query)
matchCount := make(map[int]int)
for , token := range tokens {
if docs, ok := index[token]; ok {
for , docId := range docs {
matchCount[docId]++

// matchCountE HZSH F
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TF-IDF

Term Frequency - Inverse Document Frequency

THofo] SRLEE Foh= W2 0={71X|7F AKX 2 71 He| A

FIO

SRE7I RN, §EF EMOIIMTE X

I

012 A0l M Xfz SE5h= THof

tfidf = tf(d,t) x idf(t)

rir



TF-IDF: Term Frequency

tf(d,t) =2 dollM £Ho] 7} SEE 8

DOCUMENT ID  TEXT TERM DOCUMENT ID  TERM FREQUENCY
doc1 apple favored chocolate apple doc1, doc3 2
doc2 orange juice chocolate doc1 1
doc3 apple orange juice % favored doc1 1
juice doc2,doc3 2

orange doc2,doc3 2



TF-IDF: Term Frequency: 1181

| EICH
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Term Frequency #1812 Ehe3| sife o7t 2 M0l ZHEH SESH=X|E &

tf := strings.Count(se.documents[docID].Content, token)



TF-IDF: Inverse Document Frequency
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TF-IDF: Inverse Document Frequency: 1181

Inverse Document Frequency= Ct21t ZH0| &t 4= QICt

tokens := strings.Fields(query)

scores := make(map[int]float64)

for , token := range tokens {

if matchedDocuments, ok := index[token]; ok {

// Log(TH EA %= / T tokenO| SHSt EM %)

idf := math.Log(floaté64(len(documents)) / float64(len(matchedDocuments)))
//
}



TF-IDF: Inverse Document Frequency: 781

DOCUMENT
ID

doc1

doc2

doc3

doc4

docbh

TEXT

apple favored

chocolate

orange juice
with candy

apple orange

juice

banana juice

hey hey hey hey

%

TERM

apple

banana

candy

chocolate

favored

hey

juice

orange

with

DOCUMENT ID

doc1, doc3

doc4

doc?2

doc1

doc1

doch

doc?2, doc3,
doc4

doc?2, doc3

doc?2

TERM
FREQUENCY

2

DOCUMENT
FREQUENCY

2

INVERSE DOCUMENT
FREQUENCY

0.405

0.693

0.693

0.693

0.693

0.693

0.287

0.405

0.693



TF-IDF: 38
TF9} IDFZ ot we AotoL| tfidf = tf(d,t) x idf(t)2 wetd 1ot =t

tokens := strings.Fields(query)
scores := make(map[int]float64)

for , token := range tokens {
if matchedDocuments, ok := index[token]; ok {
// Log(&H™ =2M %= / HO| tokenO| SEst %H )
idf := math.Log(floaté64(len(documents)) / float64(len(matchedDocuments)))
for , docId := range matchedDocuments {
tf := float64(strings.Count(documents[docId].Content, token))

scores[docId] += tf * idf
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Best Matching 25 : TF-IDFE O 7{Mst &2|S
Fo10[ M EIRALE?

TF-IDF 4= #H510], 2M2| 20|17t 20|25 HO2| SLE7H BUX| =X §IT.

rol

Q= H2I(EH0) e HE2Z @1, Q2, ..., @n2l #E2IS0] AULH.

k12t ky= 2= &==0ICt. O] 21S R'd5t0] 2AT0IE ZHe 4= UL,

|D|= 8M D2l 20|01, avgdI2 Tx| 22| ®a Zo|o|ct.
BM25(D, Q) = iidf(t') : fig: (ki +1) k2 t1)- fip
’ im1 fi,Q+k1'(1—b+b-a|VLg|(ﬂ) ks + fip

=AM ZO|E FH AlMAL 2R = F5 EM2| 207t ZO{E T THo{2| ST O EIC.

IDF &2 Sdll L2 EM0IM 2 SEGH| %= Hoj= O S5ttt Eetsict
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o EHAOZE= on|7t AKX, Mo M= 2|07} gl= HOS

e ex) the, a, an, is, are, was, were, be, been, am, will, would, could, should, may, might, must, do, does, did, have, has,
had, ...

E4+EX®A
QEt wH
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27, S

o ex) HHO| -> ZOtX|

e ex) IZ|E= 2| -> 50



